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Instruction: First 15 minutes are allotted
for the candidates to read the
question paper.
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i) WA & T W fefe
iv) TRl 3Evas @, TEEEE wHE
g |

All questions are compulsory.,
Marks allotted to each question
are given in the margin.
i) In numerical questions, give all
the steps of calculation.

i) Give relevant answers to the
questions.
iv)  Give chemical
:whcrever necessary.
I 38 999 % 0oieh WUg H 9K fawey Ry o ¥
34?! FeT TR 3 e IR-Reqw o
feife - \
ED) W%&aﬁaﬁm%%ﬂfo@gﬁﬁ

T FTeTl 99 &Y 2l &
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Note : i)

equations

) 3 3R H 4.4
iii) -39 3 F1 3.3 Ty
iv) 3y A &7 | 17HT | {
§) Fej0, H Fe %t stiiaor vy
), 3 4
/ 3 ii) =
i) 3 iv) % ]
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) TR ATE wE g
) As,S, @ i) Au T
i) FERLEA ' Fe(OH), 1T | 1
7)  25°C W Li, Ba, Na 3R Mg & 9
SO fOvd oy - 3-05, - 273,
- 271 @0+ 2:37 A & | T TS
THRTE &
i) Ba®? i) Mg*?
li"Na® ) Lit. 1
T) Temn wgi 9 feud gR sEa #iednEs
AT 2 8 )
) C }J/‘Si('):)
i) CaCO, iv) CO. ]

Four alternatives are given in each part
of this question. Select the correct
alternative and write it In your answer-

book :
a) The time taken for the 90%

completion of a first order reaction
is approximately

i) 22 times of half-life

i) 4+4 times of half-life

iii) 3-3 times of half-life

w) 1-1 times of half-life. 1
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374(GE) 4
b) The oxidation number of Fc
Fe,0, 1s
3 4
1 P i =
)3 ) 3
_ 8
i) 3 =
) iv) )
c) Purple of Cassius is
i) As,S,; sol
ii) Au sol
iii) Sulphur sol
iv) Fe(OH), sol. 1
d At 25°C, standard reduction
potentials of Li, Ba, Na and Mg are
- 305-273, - 2271 and + 2-37 volt
respectively. The strongest oxidising
agent is
ij Ba* i) Mg*
iij Na® iv) Li'. 1
e) In blast furnace Iron oxide is
reduced by which ?
ij C i) Si0,
i) CcaCO, v CO. I
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2. &) {FE[CN]6]'3 e HTE F gaE gAY ) _

ot o, el A0 WATED

( Fe 31 WHY i3 = o) 1 e
..".-\.‘f."t','( '-"':-.l + H (), + 2HCl 5

¥

w & &t 3R wfeg ggERE 1 1 2K [Fe(CN) [+ 2KCl+ 2H.
M) TR @ F g steg A O |
S & 2 39 N o 3wan e |l S S

§) ST e afufean @ § 2 0F " e o
ITE0T §RT W ot | 1 -

2. a) Find out the effective atomic
number of Iron in [Fe(CN),]™.

L3 .";Jn' Rt ot Tt T A N ——
1) 9TE] WA AL & A 99 8900

hitp://www.upboardonline.com ]

o.a]  Sulphuric acid is oxidising and
( atomic number of Fe = 26 ) 1 dehvdrating agent. Write down one
b) Define gold number by giving an
example. 1

c) Which inert gas is found in cleveite

mineral. Write down one use of this

reaction for cach of its property.

b} Explain  oxidising and reducing
agent in the following reaction with
reason.
2K, [Fe(CNj |+ H,0, + 2HCl —»

gas. - 1 2K, [Fe(CN), ]+ 2KCl + 2H,0

d) What are pseudo-molecular |

reactions 7 Explain with an ¢} Define molar conductivity and aive

wooaurjuopreogdn mmm,dny
wodaurjuopreogdn mmm/dny
wooddurjuopteoqdn mmm/idny

examplﬁ'. 1 iLs unit also, !
3. EF.:) Ho’-‘r-'-l.;{m HHA ﬁﬁf{%ﬁlm?{ﬂ"ﬂ QEI ?"]*ﬂﬂ[q?i‘{ﬂ'l di  Draw a Jabelled diagram of Brodie's
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el ” -l ST
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i) E'Lfn[NH}}.1 [HEU}?] Cl,
i) Fe[Fe(CN), |, 1+1
M ) I #® oms s gz
i) erEE wwm s ok oy e gwmEe
FAA AR D ERE W ]+ |

4. a) Balance the following reaction by
lon-clectron  mcthod  in basic
medium
P+OH - PH, + H,PO, . 2
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b Write down the J.U.P.A.C. names gf
the following compounds :

i) [Co(NH,), (HE()12]C13

1) l-‘c,i{FefCN]ﬁ]_?. 1+]

¢) 1) Explain auto-catalysis with an
example.

i)  What is Tyndall effect ? Write
down two factors which affect
it I +1

d) 1) Draw a labelled diagram of
reverberatory furnace.

1) Explain smelting by an
example. 1 + 1

%) i) Waw e 0 3vmrETras gt
& Uerd & 3507 ST |

o
<

i) AU @ A s § oo feedt
TAAEE 9w % 9wt oAy
I TR T A g ) ]+ ]

d) wem ® UF FhlEa § 40 geve &

9SS W A TR argar &5 s e

:ﬂrﬁa ! %ﬁ%%éﬁ%ﬂ#ﬂ:ﬁm
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7) TR EOEE R E A 2 w1 g4
m “. - < Sfﬁ é?’iﬁg i g:IT‘-T mﬁ:ﬁ
FTTeard iEg | 2

9) FAeEn S HRU ORd WE HIA0
) U foEE wemfe gui A
TR EETRT § FW 8 e
¢ 91 AR 5T 0 g
i) HFsAIesmfE HCITaE | 1+ 1
a) 1) Explain the importance of
coordination compounds in

Biological systems.

1) What 1s velocity of a reaction ?
How does the temperature

affect the velocity of reaction ?
1 +1

b} In a first order reaction, a substance
becomes hall of its initial
concentration in 40  seconds.

Calculate the wvelocity constant of

the reaction. 2
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374(GE) 10)

¢)  Deseribe the Lead storape cell g
bricl and write down the reactions
taking place at its  anode nd
cathode. 2

d) Explain the following with reasons
i) Though aluminium is placed

above hydrogen 1n
Electrochemical scrics, but it is
stable in air and water.
11} HF 1s hquid while HCI is & gas.
] + 1

6. TEleH A & Fmm & agane-ange b F@

s gum HwiEg qu feq & arg HNO, %

My AR T TAEEE GEEFI =g | 3
e

A faw & s & Fmm = gl o

FHITE A9 TEH TEHRIEE F T (e

q 38! T &1 qarts o e | 3

b

6. Describe the Birkland-Eyde method for

the manufacture of Nitric acid with
diagram and write down the equation of

chemical reaction of Tin with
concentrated HNOT 3
OR
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Describe the manufacture of chlorine by

Deacon’s method with diagram and write

down the chemical equation of its

reaction with aqueous solution of

sulphur dioxide. 3

i) HHEHY Al & FTTEFE TR B WL
Hifed |

i) ©UARE d@H9d # omen @&w d
HIrad |

i) ¥MERE § UEY TEFMe a9 @
TEEEE g fafed 10 1+ 1+ 1

HYAT

1 2491 € e —

( haet THE S T Sy )
];I A “ e 3 i Eﬁ' e
HFAAFH A ° ﬁ?‘ﬁ% ?

ii) TSl UrEn eEmMe & amiEa

W{d Go%e d 8idl & ?

i) &R mem o OeEe WETEE @ fear

et € &l § 2 1+1+1
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Explain paramagneic character of

-.._I
—
—

transition clements. |
ii) Explain Lanthanidc contraction in
brief.
iiij Write down the chemical equation
for the preparation of potassium
dichromate from chromite. 1+ 1+1]
OR

What happens when —

( Give chemical equations only ]

i) Acidic pelaascium - permanganate
reacts with oxalic acid ?

ij) Acidic potassium dichromate reacts
with ferrous sulphate ?

iii) Potassium permanganate reacts

with ethylene in basic medium ?

1+1+1
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